Course: _MFM2P Gr. 10 Applied Lesson: _20

Unit:_Linear Relations Topic: Unit Review

® homework check: FM10 p. 133 #1,2,5,6,7

H note: Unit Review
p. 146 #1 -3a,4,7 - 11
p. 148 #1-4,6-9



Review of Key Terms ' ; G o) Explam wh, this relat10nsh1p can be
In your own words, défine each of the. i modelled Wlth a hnear equatron
Key Terms from this chapter. ’ ; :
1. a) rate of change = b) slope
o) linear relation iterc
e) rise
’ ‘g) coeflicient

. Check your definitions w1th those provrded‘
i in the chapter.

| 3 1 Slopeasa Rate of Change,
‘ pages 100t0 110.© =

2. a) Copy and complete the table of
values to find thé rate of chang‘

10
13

0
1
2
3
4
5

“ b) What is the relationshi
- rate of change and the slope?
Q. What is the slop
~d) What is the - 1ntercept? ‘ :
&) Write the equation of the line that'
models th1 llnear relatlon

LA downtown parl\mg meter all‘ows
15 min of parkmg time for $ ).25.

a) Create a'table of values, in 1ncrements ‘
of 15 min, for the cost of parkmg ‘
up to:2 h. - ‘
'b) Use a graphing calculator to create alihe
scatter plot. ‘




3 P ‘opertles of Slopes of Lmes, ; 10. Determine the equation of each line.

¢ {?a) slope is 2 and passes through (3,8)
b slope is —3 and passes through (2,5)
o) slope is —2 3 passrng through the |

uch,'»n‘ rest ¢bes the bond earn’
-ach year? (Hint: Interest per year =
amount invested mul’uphed by the
interest. rate. expressed asadecimal)
"'Create a table of Values for the value
~of the bond at the end of each of the -
5years. -

c) Graph the data from the table in

" parth).

‘d) Write the equation that models the |

‘ value of the bond

,of a Lme, pages 128, to 137

'Determrne the e uat1on for each l1ne
4 ‘ 13. On the same set of axes, graph the pa,lr of

11nes in question 7a).
9. Determme the equation-of each hne

) slopeis'4, y- interceptis =3 -
b) slope is —2.7, y-intercept is 6. 3

“c) slope is 0, y-intercept is:2.5 -
d) slope is 2 5; y 1ntercept isO




1. State the slope, m, and the y-intercept, b,

for each linear relation.

a)y=2x+45
b) y= —%x—% 3
AQy=x=-7
d) y=-3x—25
e) y=32+18x"
fly=6
. Usen = 1€ ¢4 determlne the slope of “

run
each line segment.
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3. Determine the equation of each line.

agm=3b=1 ,

b) slope is —2, y- intercept is 4

¢} ahorizontal line- passmg through
(0, —9)

- On grid paper, graph each hnear relatlon. |
a)y=2x—1 ' <
by y=—3x+5
c) y= 3

Surfing Iessons cost $40 per half hour

* 'with a maximum lesson time of 2 h.

Thereisa $5 surfboard: rental fee for -
each Iesson, redardless of the length

,of the lesson. i e
v »a) Createa table of values comparmg the

~ total cost to the length_ of the lesson.

= b) Use a graphing calculator to createa

6

'd) While on vaca’uon, Iesse had

 scatter plot of the data from the table :

: l in parta).- ' ‘
' "¢) Writean equa‘uon relatlng G the

cost in dollars of a surfing lesson, ,
“tot, the length of the lesson i in hours
Enter this equatlon,mto_Yl th_en e

press (RApH].

‘half-hour lessons on Monday and
5 Tuesday, an hour-long lesson on -
~~ Wednesday, and 90-min lessons e
~on Thursday and: Friday. How much
‘were the surfing lessons? ‘

Determine the equation of each hne

a) m =2, passing through (— 3, ——5)
b) passing through (=6, 3) and (4,1)
- ¢) ahorizontal line passing through @ 5)







S

Chapter Problem Wrap-Up

Jim has used linear relations to calculate
earnings, costs, distances, and the steepness

“of a hill. Now, he will use linear relations to
interpret a map.

Jim is travelling a new route today. He checks b) Write an equation to model the

the map to plan his route and determine relationship between the distance on
where he will stop for meals. The scale on the the map and the actual distance. Let x
map is 1 cm represents 5 km. represent the distance on the map and

. . . . y represent the actual distance.
-a) Is the relationship between the distance

on the map and the actual distance linear?
Explain.

¢) Graph the relation.
d) Interpret the meaning of the slope and
the y-intercept in this situation.

i

Wh11e dr1V1ng to Barr1e one of the fires
“on Mohs car p1cked upa nail. When he
 lefthis home, his tire was inflated to
240 kPa (kllopascals) The nail caused
air toleak out of the t1re at a rate of
0.8 kPa per minute.

9 of total sales for sales up 08 $10 ’000
“‘Let X represent total sales in dollars and

- a) Writean equat1on that models P
represent. Weekly earnlngs ‘

tire pressure, related to ¢, the time in/ ‘
minutes since thenail entered the tire.

i; a). Wr1te an equat1on to represent
S h1s relation.” ' i
: b) What is the y- 1ntercept? What does s
: thrs value represent? ‘

: c) What is the slope of thrs relat1on?

- What does it represent in th1s

scenarlo? ‘ L

B d) How much has to be sold to ensurean
1ncome of at least $550 per week?

) Use a graphing calculator to dlsplay
‘the graph and the table of values for
“the equation from part a). Adjust the
window settings to view a graph for

2 hours from the time of picking up
* the nail. Sketch the calculator display.

<) What will the tire pressure be 1 hour
after picking up the nail?

d) If the air continues to leak at the same
rate, how long would it take for the
tire to become completely flat, that is,
have no air left in it?




